Ditri, Pat

From:

Lishak, Noreen

Sent:

Wednesday, July 03, 2013 9:56 AM

To:

Subject:

Ditri, Pat
For the July Agenda

Pat,

Please add the following Secondary Curriculum Writing Teams for 2013-2014school year on the July board agenda for approval.

Account number 11-000-221-104-01-54-0612 ext. 7083

15 hours at \$20.00 per hour not to exceed \$300.00

Thanks,

Noreen

Curriculum Writing Teams 2013-2014

Course	Name	Date of Approval	Total	Received
Environmental	Adam Raffaele		15 hours at \$20.00 per hour not to exceed \$300.00	
Environmental	Stephen Piotrowski		15 hours at \$20.00 per hour not to exceed \$300.00	
Anatomy & Physiology	William Soranno		15 hours at \$20.00 per hour not to exceed \$300.00	
AP Physics 1	Tyler Kneidl		15 hours at \$20.00 per hour not to exceed \$300.00	
AP Physics 2	Tyler Kneidl		15 hours at \$20.00 per hour not to exceed \$300.00	
ToxRap	John Rickel		15 hours at	

		\$20.00 per hour
		not to exceed
		\$300.00
Sports Entertainment	1. Frank Napolitano	15 hours at
Marketing		\$20.00 per hour
		not to exceed
		\$300.00
Sports Entertainment Marketing	Dominic Cuniglio	15 hours at
		\$20.00 per hour
		not to exceed
		\$300.00
Business Ethics	Akua	15 hours at
	Boakye	\$20.00 per hour
		not to exceed
		\$300.00
Business Ethics	Kathleen Dimitoulis	15 hours at
		\$20.00 per hour
		not to exceed
		\$300.00
Public Relations	Akua Boakye	15 hours at
		\$20.00 per hour
		not to exceed
		\$300.00
Public Relations	Kathleen Dimitoulis	15 hours at
	Tracking and Tracking	\$20.00 per hour
		not to exceed
		\$300.00
Hospitality & Tourism	Kathleen Dimitoulis	15 hours at
visipitality of roution.	natheen banneouns	\$20.00 per hour
		not to exceed
		\$300.00
Hospitality & Tourism	E. Schollmeyer	15 hours at
Hospitality & Tourism	E. Schonneyer	\$20.00 per hour
		not to exceed
Eachion Marketing	Cohollmover.	\$300.00
Fashion Marketing	E. Schollmeyer	15 hours at
		\$20.00 per hour
		not to exceed
Cookies Marketine	Kathlana Dinitanti	\$300.00
Fashion Marketing	Kathleen Dimitoulis	15 hours at
		\$20.00 per hour
NO MICE.		not to exceed
	A-all-	\$300.00
US History I	Anthony Bertucci	15 hours at
		\$20.00 per hour
		not to exceed
		\$300.00
US History I	Anthony DeRosa	15 hours at
		\$20.00 per hour
		not to exceed
		\$300.00

US History II	Anthony DeRosa	15 hours at
OS Flistory II	Anthony DeRosa	
		\$20.00 per hour
		not to exceed \$300.00
US History II	Anthony Bortugai	
OS HISTORY II	Anthony Bertucci	15 hours at
		\$20.00 per hour
		not to exceed
AD LIC History		\$300.00
AP US History I	Mike Fiorito	15 hours at
	•	\$20.00 per hour
		not to exceed
A D A I C A No. 1		\$300.00
AP US History I	Don Erdman	15 hours at
		\$20.00 per hour
		not to exceed
		\$300.00
AP US II	Mike Fiorito	15 hours at
		\$20.00 per hour
		not to exceed
		\$300.00
AP US II	Don Erdman	15 hours at
		\$20.00 per hour
		not to exceed
		\$300.00
World History	James Laird	15 hours at
		\$20.00 per hour
		not to exceed
		\$300.00
World History	Ron Zeiser	15 hours at
		\$20.00 per hour
	1	not to exceed
		\$300.00
Clothing I	Ndidi Uduh	15 hours at
-		\$20.00 per hour
•	ļ	not to exceed
		\$300.00
Clothing II	Ndidi Uduh	15 hours at
•		\$20.00 per hour
		not to exceed
		\$300.00
Clothing III	Ndidi Uduh	15 hours at
	Haidi oddii	\$20.00 per hour
		not to exceed
Clothing IV	Ndidi Uduh	\$300.00
	raidi Oddii	15 hours at
		\$20.00 per hour
		not to exceed
G & T Grades 7 and 8	Lawry Dohnas	\$300.00
G G I GIAGES / AIIG &	Larry Petras	15 hours at
general control of the control of th		\$20.00 per hour
		not to exceed

		\$300.00
Spanish II Honors	Jesus Castaneda	15 hours at
		\$20.00 per hour
		not to exceed
		\$300.00
Spanish II Honors	Linda Castaneda	15 hours at
		\$20.00 per hour
		not to exceed
		\$300.00
Spanish IV	Linda Castaneda	15 hours at
		\$20.00 per hour
		not to exceed
		\$300.00
Spanish IV	Jesus Castaneda	15 hours at
		\$20.00 per hour
		not to exceed
		\$300.00
Geophysics	Stephen Piotrowski	15 hours at
		\$20.00 per hour
		not to exceed
		\$300.00
Geophysics	Amie Osborne	15 hours at
		\$20.00 per hour
		not to exceed
		\$300.00
Algebra II	Sherri Horn	15 hours at
		\$20.00 per hour
		not to exceed
		\$300.00
Algebra II	Nancy Mullen	15 hours at
	Industry in a lieu	\$20.00 per hour
		not to exceed
		\$300.00
Algebra II	Cheryl Fiske	15 hours at
	onery. Hake	\$20.00 per hour
		not to exceed
		\$300.00
Geometry	Annie Pollinger	15 hours at
		\$20.00 per hour
	·	not to exceed
		\$300.00
Geometry	Ana Lytle	15 hours at
	,	\$20.00 per hour
		not to exceed
		\$300.00
Geometry Applications	Bob Sukovich	15 hours at
	- Ja Ganorian	\$20.00 per hour
		not to exceed
	1	\$300.00
General Math 4	Jim Bencivenga	15 hours at
	Juli Dellewenga	TO HORIZ OF

Diego Alvear Elias Brantley	\$300.00 15 hours at \$20.00 per hour not to exceed \$300.00 15 hours at \$20.00 per hour
	\$20.00 per hour not to exceed \$300.00 15 hours at \$20.00 per hour
Elias Brantley	not to exceed \$300.00 15 hours at \$20.00 per hour
Elias Brantley	\$300.00 15 hours at \$20.00 per hour
Elias Brantley	15 hours at \$20.00 per hour
Elias Brantley	\$20.00 per hour
	not to exceed
	\$300.00
Lauren Wojcik	15 hours at
	\$20.00 per hour
	not to exceed
	\$300.00
Scott Cornacchia	15 hours at
	\$20.00 per hour
	not to exceed
	\$300.00
Maria Grillias	15 hours at
	\$20.00 per hour
	not to exceed
	\$300.00
Jason Langer	15 hours at
_	\$20.00 per hour
	not to exceed
	\$300.00
Laurie Romero	15 hours at
	\$20.00 per hour
	not to exceed
	\$300.00
Dana Bohertz	15 hours at
Sana Soserie	
	\$20.00 per hour not to exceed
	\$300.00
Jackyn Edgo	
Jaciyii Luge	15 hours at
	\$20.00 per hour
	not to exceed
	\$300.00

Noreen Lishak, Ed.D.

Assistant Superintendent of Schools

Ph: (908)851-3020